OO0OO0OU—oooooooooo UOUOooooo
O0od 10 0dod

goooobbobood

2022/07/14

goboobogoobuodobboooboob

s 0O

5000000000000000000000:
z(t) = a®cos®t, y(t) = a®sin®t = x(t) = acos®t, y(t) = asin®t

7000 800:
v(t) := a®(cos® t,sin® t) = (t) := a(cos®t,sin® t)

190000000 200:
O0D00D000000 =0000e 00000000

27000 100:
n000000 AODMMA=A"A=1(J0 n00000000000000000000CO0O0O
=>np000000 ADOUAA=A'A=1(I0 n000000000D000000000 A0 A

0000000000000000000

3000000 3.10000000:
obobooooobod =00boboboooooon
3100000000 30:
00 3.2 00O00ODOOO0ODOO 1000 -100DO0
(0000000000000 0000000D00000000000Oo0o0oO
z0000000000000000000000OO00O0000O0

=00 3.2 0O000OOO0OOOO 1000 —-10000

Oo0oboCoOoOooOooOooooOooooOoobooOono 330onoooag
[00]=z0000000000000D0000D0O0O0O0O0DOODOODOO0

400000200000:
5(s,t) = w(s,t)
41000 1000:
(e>1000)=(e>100000€ R)
45000000 3:
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00 z—1/z20000000=00 2—1/20z0 :00000000000000
460000000800:

200000000007 000000000

= 200000000007 00000000000000000
490000000500:

004500 y(t) e D, c D, 00000000 y(s)¢ D, 000000

= 004500 v(s)eD,cD, 00000000 ~(t)¢D, 000000
50000 300:

000000000000000000=00000000000000000000000000
52000 500:

K(s)=["(s)|20=(00)
54000 700:

00000000000000000000 ~(s)

= 00000000000000x>00000000 ~(s)

w00

6500001-400:
goboobodbbdp,, pp UDOOO0LOO00bDooboonDboon
gooooo

_ DPuX Py

6.8 Vi= ——
(68) [Pu X o]

oooooooooooooooo

= O0O0DooooodbOp,, p, OOODODOODODOODOOOODO £000
gobooobooooo

_ PuXDPy

(6.8) y = DeX Py
|Pu X Do
No00000000000000

650 0005900000000:
O00w 0000 10 (ug,vo) 00DODO0OODOOO p(ug,ve) DODOO
(z0,90,20) 00000000000 DODOODOO v=(abc)000O
doboobooobooooboooo

a(x — o) +b(y —yo) +c(z —20) =0

gooboooo
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= 0o0oo,00 z=f(z,y) DOODODODODODOODOO

vV = 41 (7]0:1:7 7fy7 1)

1+ [+ f2

gooboooo

650000000 700:
pp=0=p,=0(00)
66 00006-700:
00 p(u,0) 00000000000 DO0000000000000000000000000 DO
=
00 pu,0) D0D000000000000000000000 DOOOODO0OO0000O00D O
76000 1100:
00 e00D0 2rb 00000000000 - 00 000 27¢ 00000000000

79000 600
ap=(* NYp o ap=p(* O
0 u 0 w
81000 300:
000000000000000000000000000
=

0 (68)0 vO00OUI0DO0D0DODO0ODOODOOLOODOOOLOODODOOODOODOODOO
81000 400:
000000 40=086000 40
81000012-1400:
ooooooooooO (we) = (vue) D0ODOODOODOODODOODOO
cobooboooobooooooOoooOoOooOoOoOboOobobooOoOoOooon

= goboboboobuoob voboobbobboobooboobooo
gboooooooboobooboboboooooog

82000 300:
000 (7.13),(83) 0000000 ADODDOOOOO
= (7.13),(8.3), (84) 00 100000ADDODODOOD
83000 900 :
0000000000000000000
= 000000000v0 (68)0000000000000000000
84000 400:
ry00 =00 10000
84000015-1800:
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00000000000 O0Ov=(l/o)pOOOOOOOODOOODOODOO
1 1.,
Il =—dp-dv=——dp-dp=——ds
a a
00000000 ds? 00000000000000000 ADOO000O
00 -1/e 00000000000 1/62000000 -1/ 0000

= 000000000000v=—(l/o)p000000O0OOO0ODOOOO

1 1
II=—dp-dv=—dp-dp= —ds*
a

a

00000000 d?00000000000000000 ADOODO
00 1/ 00000000000 1/¢2000000 1/e 0000

oo O 85000 ODOODOODO:
a,b€R3DDDDDDDDDDDDDDDD a-bO000ODOODODOO
a-b=leb0000000 A30 (A-3.1) 00 O00p,, p, 0000
0000000000 300000 Pr:= (pu,pesV), Pai= (Y, vy, v) O
ooboobooobouoboboooboo

t o f 0 _t o ﬁ 0
P1P1—(0 1>7 P1P2—(O _1>

gobooboo

47
_Pf1P2 — _(tplpl)il(tp‘lPQ) _ ([ 0 17 ?) -‘
gooo
I-'m o A0
(VWUU,I/) =P =-P < 0 1> = _(puapvay> (0 1>
goboobogoo (|

gh0OO0d12000 1400

(f—lfl 0) (f—lfl 0)

=
0 -1 0o -1

©0)
9000D00O0D 1.

Oo00o0O0o=000008roog 10000
%5000 500:

000 o"(so) =kn(so)y 000 =000 o"(sg) =k,v 000
98000 2500

obo0o0o0o0d0o0 = [0OO0O0OODOODOOOO200000D00DO0ODOOOOOOODOODOO
9000 400:

xr0000000000000 M=0000000000000000000O00O
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= 00000000000 {1,000 ADDDDOODDOOD ADOODOOOOD
112000 1000

gooOoooogsenoOoO 1ooOO R*00000O0O

= DDDDDDD§6DDD1DDDDR3DDDDDDDDDDDDD

120000000 8:

(10.14) O (10.16) 0O = (10.16) O (10.13) OO
1200000000:

(z,y,2) € R* = (z,y,2) € R’
121000 700:

D000 () = 0000 4(s)
134000000 1(1) 0 200:

(a<s<bhls|<e)=(assSh |t Se)

m0IlO

137000010-1100:
000000 SO00000000D000000000000 ¥ ds?200
O0D00D00000(S,ds?) 000000000000

= 000000 S00000000000000000000 % ds?00
000000000(S,ds?) 0000000000000000000

139000 300:
C>(S) = C>(U)
141000 400:
o0 2=00 3
141000 1100:
0000 dADDDCOODOODOD =0000dADds?20000000
142000 1200:
dw; = awy /\wz)(:ad/l), dws = b(wy /\wg)(:bdfl)
= dwy = a(wr A wa), dws = blwy A ws) (adA, bdADDDO)
142000016-1800:
Sodoodoooooooooo {el,EQ}DDDDDDDDDDDDDD
D000000dAD SOO00O00O0D0O00000D0 UO000o0oooog
gooooooo

= SO0000000000000DO0S 000000000000 dA o
00000000000 {e,e,} 0000000000000000O0
dA =wi Aw, 0000

1420000000 500:
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SO000000000 =0 000000000
143000 1000:

0000 40 =00 {é,6,} 00000000 &0
150000 800:

00 D=00000 D
1520000000:

VeW=sVeV
153000 1200:

= df(X)Y + fVxY = = df(X)V + fVxY
1530000000 300:

(Usu,v) = (U; (u,v))
158000 1400

(Uj3 ujp v) = (Ugs (uj,0))
16100000 1430000000:

R?\{(0,0)} 0200000

Uy = R*\ {(u,0) e R*|u >0}, Uy:=R*\{(u,0) e R*|u<0}

0000poooo0, 00200000000

lez(u+ u2+v2),£+vg,
ou ov
(14.3) S
AR 2 2) — —v—
! (u+ u+v)8u U@v
00000, 00 200000000
Y2=—U£+(u—\/u2+’u2) 37
(14.4) a@u 0811
Zgzv——&—(u—\/ug—&—v‘z) —,
ou ov
gooOooooo
0 02 0

V= ;
ou  u+Vu2 +0v20v

__m <(u+ 71,2—|—112);u—|—7)§u) :_U—f—i ZQWH
0000000000007 :={(U;,Y;)}j=120 R*\{(0,00} 00000
0000000000000 Z = {v/(u+vu2+02)}Z; 0 U1NUs O
00000000¢:={(U;,Z;)}j=120 R*\{(0,0)} 000000000
0000000 1420000 000000000000 ¢000000
00000000000 o

1630000000 300:
R*\ {(0,0)} = D\ {(0,0)}
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163 0000000:

& ={(U,X1), (U, Xy)}, & ={(U2,X7), (U2, X2)}

= G ={U,X1),(Us,X5)}, & ={(U1,X{"),(Uz,X2)}
6000 700:

0142 =0 14.3
65000 900:

014.2=0 14.3
le6 0000000 8000O:

O0o0oo0ooono s00uodooooooo
760000000 700:

(a,b,¢,d € R; ad — bc# 0) = (a,b,¢,d € R; ad — bc = 1)
1820000000 400:

ddodooooooooao p:S%R‘géDDDDD()DDDDDDDDDDDDp
1820000000 300:

00bOO00o0Oo0odoo0 =00000000000
188000 100

ooooodo S=000o0o000 (S,dsz)
189000 600:

0000000 S=0000000 (S,ds?)

0 A

200000 800:

R"0O0O0000OO0 D' (cD)000000=R’00000000 D'O000O0O0O0
200000 1400

0000*U (cD)000=0000%0U000

mJ0B

2130000000900:

000 {¢,} 0000 F(z,y,t)=000000000000000

=000 {C,} 000000000000 F(r,y,t)=000000000000
2130000000 700:

00000000=00000000000
2130000000600:

00000000 2z, y0 ¢0000000000

= 0000z y0¢t0000000000F,#0000000000000
214000 200:

0t¢0 C,00000000000=0¢t000000000000000000
21400006-800:
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0poOOD ¢+00000
(x—y)? =2 +y)+1=0
0000000000 B1.10000000000000000000

0000 t00000 (z—y)?—-2@+y)+1=00000000000
= B-1.10000000000000000000000 F(a,y,t)=x+ 3
0000000000000000000000000000

231000 1100:
e(u)=0=e(u)=0(00)
2330000000 1000:
¥Y=0=+=0(00)
241000 1100:
000 §d=000t
241000 1200:
4(5,8) = q(s,1)
249000013-1400:
wiO R*= 0000 R?
253000 300:
vy #0=v;#0(00)
254000 200:
p, 00D0000B+2= (B+2)/2
254000 400:
(B-8.9) 00w := %( = V=
254000 800O:
A =det(pu,py) = = A =det(py, po.v) =
255000 500:
v, =1, 0000002ucoshv(ow —2) = 2ucoshv(2 — )

m [0

2670000§100030300:
8/9 = 2v/2/3
2670000§100030500:
254 = 27\/554
256 256
271000 1000: i
gl

WWDDDDD)+FF:>WﬁDDDDD)+
¥

712
271000 1400:

000000 =000000000
2710000800 7000:
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00000000 »r00000000000y-y=r20000000000000000000
v -y=004"-v=-100000 vy=(-1/k)n+ab 00000000 a®>=r2—-xk20000000
O0e=+"=—(1/k)n'+ab00000000000000000D00CDOOOOO0DOOODOOOO

273000 600:
(73) 0000 = (74) 0000
273000087000 7
E=32+9* - E =424 32
274000 800:
R(AB)R"'=RR'R"'BR'=R'BR-'0000 R'0 BO
= R"YAB)R=R'R’BR=RBRODOOO RO BO

277000081000 2000 400:
7" (8) = u"(8)py + V" (8)py + R*V'(8)%v = 7" (s) = u”(8)pu + "' (s)py + RV'(s)?v

2r7000D00O0O0400:
s~ wlm)iE
— |l )7t = —\ =7+
ds \ |9l 191 ds \ 17l s
2rr0000000300:

(102) 000000000000= (10.13) 000000000000
278000 300:

(10.4), (2.7) 00 = (10.13), (2.7) OO
278000 500:

00 (104) = 00 (10.13)
2780000000 1100:

O=y-v+7v7" = 0=7"9+v7
220000000 800:

F(z,y,t) = xsint 4+ ycost — 2sintcost = F(x,y,t) = xsint 4+ ycost — sint cost

(2000)
28000 600:

2. =3 (0000)
286000 1700

3. =4 (000O0)
2850000000 700:

—2(6u? +v)(1 + v + u?) = —2(6u +v)V1 +u2 + ut
2860000 100:

4 =5 (000O0O)
286000 600:

5.=6. (0000)
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mO00og
oo [31]:

aood = QUooo
m [0

23000000 700:
0000 tangent plane = 0000 osculating plane
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